
Lecture 9

Chapter 11: The AS/AD Model

• Derivation of AD curve from IS curve and
Fed rule

• AS and AD together

• Shape of AS curve and the effects on policy
responses

• Reduced form equation for AS/AD model—
optional













SOLUTION of AS/AD MODEL
Y = C + I +G

= a + b(Y − tY + TR) + d
−e · (αY + β[δ+ εY + ζPM ] + γZ) +G

Let q = 1− b + bt + eα + eβε.
Reduced form equation is:
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If b = .75, t = 1/3, α = .3, e = .3, ε = .3, β =
.3, then q = 0.617, so 1

q = 1.62. This compares
to 1

1−b+bt = 2.0.
Why is the government spending multiplier
smaller when the AS curve and/or the Fed rule
are added to the model?


